



This price list has been generated using the following parameters

Product Category: N

NA

Filters Applied:

Search for "easter"

Printed For: Date Printed:

19th May 2024, 22:54

Direct contact Plastic free	▼ Vegetarians ▼ Kosher Dairy ▼ Vegans ▼ Halal	Recyclable	😽 Recycled 🌈 E	Biodegradable C C	ompostable
CODE	DESCRIPTION	PRICE	PACK SIZE	PER KG/UNIT	ATTRIBUTES
SPM2702	Easter Eggs Ribbon 23mm wide	£7.68	25m reel	£	
SPM2756	Easter Bunny Ribbon; Ivory 25m reel; 22mm wide	£6.65	25m reel	£	
SPM2758	Easter Bunny Ribbon; Yellow 25m reel; 22mm wide	£6.65	25m reel	£	
SPM2760	Easter Bunny Ribbon; Green 25m reel; 22mm wide	£6.65	25m reel	£	
SPM2762	Easter Bunny Ribbon; Orange 25m reel; 22mm wide	£6.65	25m reel	£	
SPM2764	Easter Bunny Ribbon; Pink 25m reel; 22mm wide	£6.65	25m reel	£	
SPM2774	Jute Bag; Easter Bunny 28 x 14cm; Pack of 5	£8.64	Pack of 5	£1.92/each	
SPT4168	Easter Hunt Polypropylene Bag 100mm wide x 220mm high; Card Base; 35 micron	£13.93	Box of 100	£0.14/each	D
SPT4169	Easter Hunt Polypropylene Bag 120mm wide x 260mm high; Card Base; 35 micron	£15.44	Box of 100	£0.15/each	D
SPT4213	Easter Hens Polypropylene Bag 100mm wide x 220mm high; Card Base; 35 micron	£13.93	Box of 100	£0.14/each	D
SMF5930	Smooth Easter Egg Mould 12.5cm 70g; 3 half shells per mould; L: 124mm, W: 82mm, H: 41mm	£93.57	Box of 4	£23.39/each	
SMF5930P	Smooth Easter Egg Mould 12.5cm 70g; 3 half shells per mould; L: 124mm, W: 82mm, H: 41mm	£23.61	1 mould	£23.61/each	
SMF5931	Smooth Easter Egg Mould 18cm 210g; 1 half shell per mould; L: 179mm, W: 120mm, H: 60mm	£40.88	Box of 2	£20.44/each	
SMF5932	Smooth/Striped Easter Egg Mould 15cm 120g; 2 half shells per mould; L: 149mm, W: 100mm, H:50mm	£99.05	Box of 4	£24.76/each	
SMF5932P	Smooth/Striped Easter Egg Mould 15cm 120g; 2 half shells per mould; L: 149mm, W: 100mm, H:50mm	£24.76	1 mould	£24.76/each	
SMF5934	Smooth Easter Egg Mould 22cm 300g; 1 half shell per mould; L: 200mm, W: 150mm, H: 75mm	£69.28	Box of 2	£34.64/each	





CODE	DESCRIPTION	PRICE	PACK SIZE	PER KG/UNIT	ATTRIBUTES
SCS500	Dark Chocolate Hollow Eggs Weight 4.4g, L 39mm, W 26mm, H 25mm	£36.65	Box of 315	£0.12/each	∞
SCS501	Milk Chocolate Hollow Eggs Weight 4.4g, L 39mm, W 26mm, H 25mm	£36.65	Box of 315	£0.12/each	№ ☆
SCS502	White Chocolate Hollow Eggs Weight 4.4g, L 39mm, W 26mm, H 25mm	£36.65	Box of 315	£0.12/each	™
SCR472	Citrus Yellow Coloured Cocoa Butter 245g; Azo	£20.65	245g	£82.60/kg	™
SCR475	Orange Coloured Cocoa Butter 245g; Azo	£20.65	245g	£82.60/kg	₩ 🕹
SCR475A	Orange Coloured Cocoa Butter 1kg; Azo	£63.23	1kg tub	£63.23/kg	₩ 🕹
SCR476	Forsythia Coloured Cocoa Butter 245g; Azo	£20.65	245g	£82.60/kg	₩ 🕹
SCR476A	Forsythia Coloured Cocoa Butter 1kg; Azo	£63.23	1kg tub	£63.23/kg	™ ↓
SCR373	Yellow Powder Colours 100g; Azo	£25.09	100g tub	£250.90/kg	™ ↓
SCR375	Orange Powder Colours 100g; Azo	£25.09	100g tub	£250.90/kg	™ ↓
SDC161	Plaques; Fluffy Bunny Feet 40x30mm; 72 pcs - 36 pairs	£17.83	Box of 72	£0.25/each	
SDC163	Plaques; Fluffy Bunny Ears 50x20mm; 96 pcs - 48 pairs	£17.83	Box of 96	£0.19/each	
SDS532	Transfer Sheets; Carrots 290x390mm	£57.86	Bag of 30	£1.93/each	™ 🕸 🕦
SDS532P	Transfer Sheets; Carrots 290x390mm	£12.26	Bag of 5	£2.45/each	™ 🌣 № 🥎
SDS533	Transfer Sheets; Bunny 290x390mm	£39.19	Bag of 30	£1.31/each	™ 🌣 № 🥎
SDS533P	Transfer Sheets; Bunny 290x390mm	£9.46	Bag of 5	£1.89/each	阪 🌣 🕦 🥎
SDS534	Transfer Sheets; Zigzag 290x390mm	£67.57	Bag of 30	£2.25/each	x 1/2 (S
SDS534P	Transfer Sheets; Zigzag 290x390mm	£14.50	Bag of 5	£2.90/each	x 100 👇
SDS164	Shaky 2 Transfer Sheets	£108.80	Bag of 30	£3.63/each	™ ♥ ९
SDS164P	Shaky 2 Transfer Sheets	£21.69	Bag of 5	£4.34/each	™ ♦
SDS165	Eggy 2 Transfer Sheets	£54.40	Bag of 30	£3.63/each	™ ◆
SDS165P	Eggy 2 Transfer Sheets	£10.85	Bag of 5	£4.34/each	₩ •
SPM4006	Orange Pull-bow Ribbon 19mm wide	£7.42	40m roll	£4.34/each	
SPM6650	Yellow Pull-bow Ribbon 19mm wide	£7.42	40m roll	£4.34/each	





CODE	DESCRIPTION	PRICE	PACK SIZE	PER KG/UNIT	ATTRIBUTES
SPM4040	Lemon Yellow Raffia Pull-Bow Ribbon Country Bows; Raffia Style; Approx 19mm wide	£11.93	40m roll	£4.34/each	
SPM4100	Burnt Orange Raffia Pull-Bow Ribbon Country Bows; Raffia Style; Approx 19mm wide	£11.93	40m roll	£4.34/each	
SPM2752	Little Chicks Ribbon; White 25m reel; 15mm wide	£6.83	25m reel	£4.34/each	
SPM2754	Little Chicks Ribbon; Green 25m reel; 15mm wide	£6.83	25m reel	£4.34/each	
SPM2766	Lovely Flowers Ribbon; Yellow 25m reel; 22mm wide	£7.35	25m reel	£4.34/each	
SPM2768	Lovely Flowers Ribbon; Green 25m reel; 22mm wide	£7.35	25m reel	£4.34/each	
SPM2770	Lovely Flowers Ribbon; Pink 25m reel; 22mm wide	£7.35	25m reel	£4.34/each	
SPM2772	Lovely Flowers Ribbon; Lilac 25m reel; 22mm wide	£7.35	25m reel	£4.34/each	
SPM6260	Double Faced Satin Ribbon; Light Yellow 10mm wide	£1.56	25m reel	£4.34/each	
SPM6260A	Double Faced Satin Ribbon; Light Yellow 25mm wide	£3.14	25m reel	£4.34/each	
SPM6265	Double Faced Satin Ribbon; Golden Yellow 10mm wide	£1.56	25m reel	£4.34/each	
SPM6265A	Double Faced Satin Ribbon; Golden Yellow 25mm wide	£3.14	25m reel	£4.34/each	
SPM6270	Double Faced Satin Ribbon; Gold 10mm wide	£1.56	25m reel	£4.34/each	
SPM6270A	Double Faced Satin Ribbon; Gold 25mm wide	£3.14	25m reel	£4.34/each	
SPM9920	Organza Woven Edge Ribbon; Yellow 25mm wide	£3.71	50m reel	£4.34/each	
SPM9924	Organza Woven Edge Ribbon; Orange 25mm wide	£3.71	50m reel	£4.34/each	
SPM4420	Yellow Raffia Ribbon Approx 5mm wide; waterproof	£16.44	200m roll	£4.34/each	
SPM4440	Cerise Pink Raffia Ribbon Approx 5mm wide; waterproof	£16.44	200m roll	£4.34/each	
SPT4230	Polypropylene Satchel Bag with Gold Card Base 160mm wide x 420mm high; Gusset Depth 80mm (Base:149x74mm)	£217.15	Box of 1000	£0.22/each	D
SPT4230A	Polypropylene Satchel Bag with Gold Card Base 160mm wide x 420mm high; Gusset Depth 80mm (Base:149x74mm)	£13.05	Pack of 50	£0.26/each	D
SPT4231	Polypropylene Satchel Bag with Gold Card Base 230mm wide x 570mm high; Gusset Depth 110mm (Base:219x104mm)	£298.23	Box of 1000	£0.30/each	D





DESCRIPTION	PRICE	PACK SIZE	PER KG/UNIT	ATTRIBUTES
Polypropylene Satchel Bag with Gold Card Base 230mm wide x 570mm high; Gusset Depth 110mm (Base:219x104mm)	£18.05	Pack of 50	£0.36/each	D
Folding PET Carton (4-Flap Base) L: 145mm, W: 122mm, H: 207mm	£34.32	Box of 50	£1.14/each	D 😭
Folding PET Carton (4-Flap Base) L: 145mm, W: 122mm, H: 207mm	£7.36	Box of 10	£1.23/each	D 😭
Folding PVC Carton (Quicklock Base) L: 100mm, W: 100mm, H: 160mm	£97.19	Box of 200	£0.49/each	D
Folding PVC Carton (Quicklock Base) L: 100mm, W: 100mm, H: 160mm	£6.21	Box of 10	£0.62/each	D
Folding PVC Carton (4-Flap Base) L: 100mm, W: 100mm, H: 160mm	£90.42	Box of 200	£0.45/each	D
Folding PVC Carton (4-Flap Base) L: 100mm, W: 100mm, H: 160mm	£5.86	Box of 10	£0.59/each	D
Folding PVC Carton (4-Flap Base) L: 120mm, W: 120mm, H: 190mm	£124.30	Box of 200	£0.62/each	D
Folding PVC Carton (4-Flap Base) L: 120mm, W: 120mm, H: 190mm	£13.79	Box of 20	£0.69/each	D
Folding PVC Carton (Quicklock Base) L: 120mm, W: 120mm, H: 190mm	£131.10	Box of 200	£0.66/each	D
Folding PVC Carton (Quicklock Base) L: 120mm, W: 120mm, H: 190mm	£14.45	Box of 20	£0.72/each	D
Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 200mm	£90.42	Box of 100	£0.90/each	D
Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 200mm	£10.03	Box of 10	£1.00/each	D
Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm	£102.85	Box of 100	£1.03/each	D
Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm	£11.26	Pack of 10	£1.13/each	D
Shiny Gold Egg Box Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930	£40.70	Bag of 100	£0.41/each	D
Shiny Gold Egg Box Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930	£5.13	Bag of 10	£0.51/each	D
Shiny Gold Egg Box Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£59.00	Bag of 100	£0.59/each	D
Shiny Gold Egg Box Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£6.97	Bag of 10	£0.70/each	D 🚳
Green Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base	£4.05	Bag of 10	£0.41/each	D 🥎 🌈 C 📎
	Polypropylene Satchel Bag with Gold Card Base 230mm wide x 570mm high; Gusset Depth 110mm (Base:219x104mm) Folding PET Carton (4-Flap Base) L: 145mm, W: 122mm, H: 207mm Folding PET Carton (4-Flap Base) L: 145mm, W: 122mm, H: 207mm Folding PVC Carton (Quicklock Base) L: 100mm, W: 100mm, H: 160mm Folding PVC Carton (Quicklock Base) L: 100mm, W: 100mm, H: 160mm Folding PVC Carton (4-Flap Base) L: 100mm, W: 100mm, H: 160mm Folding PVC Carton (4-Flap Base) L: 100mm, W: 100mm, H: 190mm Folding PVC Carton (4-Flap Base) L: 120mm, W: 120mm, H: 190mm Folding PVC Carton (4-Flap Base) L: 120mm, W: 120mm, H: 190mm Folding PVC Carton (Quicklock Base) L: 120mm, W: 120mm, H: 190mm Folding PVC Carton (Quicklock Base) L: 150mm, W: 150mm, H: 200mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 200mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) L: 150mm, W: 150mm, H: 250mm	Polypropylene Satchel Bag with Gold Card Base 230mm wide x 570mm high; Gusset Depth 110mm (Base:219x104mm) Folding PET Carton (4-Flap Base) £34.32 L: 145mm, W: 122mm, H: 207mm Folding PET Carton (Q-Flap Base) £7.36 L: 145mm, W: 122mm, H: 207mm Folding PET Carton (Quicklock Base) £97.19 L: 100mm, W: 100mm, H: 160mm Folding PVC Carton (Quicklock Base) £97.19 L: 100mm, W: 100mm, H: 160mm Folding PVC Carton (4-Flap Base) £90.42 L: 100mm, W: 100mm, H: 160mm Folding PVC Carton (4-Flap Base) £9.86 L: 100mm, W: 100mm, H: 160mm Folding PVC Carton (4-Flap Base) £124.30 L: 120mm, W: 120mm, H: 190mm Folding PVC Carton (4-Flap Base) £13.79 L: 120mm, W: 120mm, H: 190mm Folding PVC Carton (Quicklock Base) £13.10 L: 120mm, W: 120mm, H: 190mm Folding PVC Carton (Quicklock Base) £14.45 L: 120mm, W: 120mm, H: 190mm Folding PVC Carton (Quicklock Base) £10.03 L: 150mm, W: 150mm, H: 200mm Folding PVC Carton (4-Flap Base) £10.03 L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 150mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 170mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 170mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 170mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 170mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 170mm, W: 150mm, H: 250mm Folding PVC Carton (4-Flap Base) £10.03 L: 170mm, W: 170mm, H: 185mm; top 25mm/base 30mm; fits SMF5930 Shiny Gold Egg Box Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930 Shiny Gold Egg Box Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932 Green Insert; for SPT1072/1073 £4.05	Polypropylene Satchel Bag with Gold Card Base 230mm wide x 570mm high; Gusset Depth 110mm (Base:219x104mm) Edward Satchel Bag with Gold Card Base 230mm wide x 570mm high; Gusset Depth 110mm (Base:219x104mm) E34.32 Box of 50	Polypropylene Satchel Bag with Gold Card Base 230mm wide x 570mm high; Gusset Depth 110mm (Base:219x104mm) Folding PET Carton (4-Flap Base)





CODE	DESCRIPTION	PRICE	PACK SIZE	PER KG/UNIT	ATTRIBUTES
SPC3285	Green Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£5.88	Bag of 10	£0.59/each	D 🥎 🎉 C 👂
SPC3286A	Gloss White Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930	£4.05	Bag of 10	£0.41/each	D 숙 <page-header> 🛭</page-header>
SPC3287A	Gloss White Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£5.88	Bag of 10	£0.59/each	D 숙 🌾 👂
SPC3289	Yellow Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£5.88	Bag of 10	£0.59/each	D 👇 <page-header> C 🔕</page-header>
SPC3290	Orange Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930	£3.94	Bag of 10	£0.39/each	D 👇 🌈 C 🔕
SPC3291	Orange Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£5.88	Bag of 10	£0.59/each	D 🥎 🎉 C 👂
SPC3292	Pink Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930	£3.94	Bag of 10	£0.39/each	D 🥎 🗗 C 🔊
SPC3294	Gloss Brown Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930	£3.94	Bag of 10	£0.39/each	D 👇 🌈 C 🔕
SPC3295	Gloss Brown Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£5.88	Bag of 10	£0.59/each	D 👇 🎉 C 🔞
SPC3296	Gloss Black Insert; for SPT1072/1073 L: 97mm, W: 97mm, H: 155mm; top 25mm/base 30mm; fits SMF5930	£3.94	Bag of 10	£0.39/each	D 👇 🌈 C 📎
SPC3297	Gloss Black Insert; for SPT1118/1119 L: 112mm, W: 112mm, H: 186mm; top 25mm/base 30mm; fits SMF5932	£5.88	Bag of 10	£0.59/each	D 🥎 🖟 C 📎
SPC1046B	Matte Gold Base Support Stand; For Cellophane L: 93mm, W: 93mm, H: 25mm (Circular hole dia 75mm)	£3.68	Pack of 10	£0.37/each	D
SPC1046C	Green Base Support Stand; For Cellophane L: 93mm, W: 93mm, H: 25mm (Circular hole dia 75mm)	£3.68	Pack of 10	£0.37/each	D 🥎 🖟 C 📎
SPC1046D	Yellow Base Support Stand; For Cellophane L: 93mm, W: 93mm, H: 25mm (Circular hole dia 75mm)	£3.68	Pack of 10	£0.37/each	D 🥱 🛭 C 📎
SPC1046E	Gloss White Base Support Stand; For Cellophane L: 93mm, W: 93mm, H: 25mm (Circular hole dia 75mm)	£3.68	Pack of 10	£0.37/each	D < Ø 8
SPC1046F	Orange Base Support Stand; For Cellophane L: 93mm, W: 93mm, H: 25mm (Circular hole dia 75mm)	£3.68	Pack of 10	£0.37/each	D 🥎 🖟 C 📎

Unit 1a, 31 East Industrial Estate, Kingfisher Way, Dinnington, Sheffield S25 3AF, UK Tel: 0114 245 5400 Email: sales@keylink.org www.keylink.org





CODE	DESCRIPTION	PRICE	PACK SIZE	PER KG/UNIT	ATTRIBUTES
SPC1046H	Gloss Brown Base Support Stand; For Cellophane L: 93mm, W: 93mm, H: 25mm (Circular hole dia 75mm)	£3.68	Pack of 10	£0.37/each	D 🥎 🎉 C 📎
SPC1046I	Gloss Black Base Support Stand; For Cellophane L: 93mm, W: 93mm, H: 25mm (Circular hole dia 75mm)	£3.68	Pack of 10	£0.37/each	D 🥎 🎉 C 📎
SPC1048	Matte Gold Base Support Stand; Fits SMF5930 L: 136mm, W: 85mm, H: 26mm (Egg-shaped hole 96x70mm)	£9.54	Pack of 25	£0.38/each	D
SPM5955	Clear Cellophane Film 70cm wide; Food Compatible	£28.98	100m roll	£0.38/each	D
SMP3372	3D Ms Hen Figure Mould L: 108mm, W: 75mm, H: 120mm - 90g; rings supplied; Thermoformed	£24.59	each	£24.59/each	
SMP3374	3D Mr Bunny Figure Mould L: 90mm, W: 60mm, H: 152mm - 100g; rings supplied; Thermoformed	£24.59	each	£24.59/each	
SMP3300	Half Egg Moulds 70g Diameter 72mm, Height 105mm - Produces 4 halves	£13.49	each	£13.49/each	
SMP3302	Half Egg Moulds 150g Diameter 90mm, Height 130mm - Produces 2 Halves	£13.49	each	£13.49/each	
SMP3304	Half Egg Moulds 230g Diameter 104mm, Height 150mm - Produces 2 halves	£13.49	each	£13.49/each	
SMP3306	Half Egg Moulds 260g Diameter 121mm, Height 175mm - Produces 1 half	£13.49	each	£13.49/each	
SMP3312	Diamond Egg Mould 280g Diameter 120mm, Height 185mm; Thermoformed; contains 4 half moulds	£30.20	Box of 2	£30.20/each	